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FA ER KR by B # A | 4 g gk =a
1 | 8:30 | U5+ 4 & w4 1Kg A% 224 | 38.84
2 |8:30 U5 7 # & Bt AF 594 | 6.59
3 19:00 U594 b3k 5Kg AF 32+ | 1514
4 110:00 U137 4% B AE |6 1.45
5 110:30 UL7T+ 4 & £ 500g A 104 | 54.48
6 | 7:30 UI9 %4 & 5000 2 ¢ A | 124 18.52.01
7 18:05 Ul5%4 ' | 1002 ¢ @54 0.762m FE 234 | 14.84
8 | 8:15 | ULT=# ' | 1002 ¢ g 0.762m FE 334 | 14.46
9 | 8:25 UI9=%4 ' | 1002 ¢ 5 0.838m FE 104 14,07
10 | 8:40 | U5 9 42 | 110 2 < 54 0.914n FE 264 | 14.91
11 | 8:55 | UIT 94 | 110 2 < % 0.914n FHE 314 14.23
12 19:10 | U199 # 22 | 110 2 < &4 0.991n TR 224 | 13.94
B 52 A
13 | 9:45 U13 %2 & 100 2 = FE 224 13.47
14 | 9:53 | U139 4 & 100 2 ¢ EE| 204 | 12,81
15 10:00| U15+ # 2= 100 2 ¢ FE 1134 12.63
16 10:30| U159 # = 100 2 ¢ SEE 137 4 11,41
17 [11:05 UIT 2 & 100 = = FE 504 | 12,45
18 |11:20| U179 # = 100 2 ¢ R 954 | 10,99
19 |11:45| U19 + # = 100 2 ¢ FE 364 12,20
20 |11:55| U19 7 # & 100 2 ¢ R 544 | 10.68
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Fie BE | A B Ful | Al A gEs &
21 13:30 UI9+ 2 = = peit AF 154 | 11.99
22 13:30 U5 9 2 & 4 700g Af 3T+ | 52,73
23 | 13:50 UI3+ 2 43t 2.72Kg Af 114 | 10.95
24 14:00 U5+ 2 = B Af 314 165
25 15:30 U199 2 & = it AF 254 | 15,22
26 1 15:40 U197 4 4 1. T5Kg Af 244 | 4T.69
27 15:40 UIT+ 2 & 53t 3Kg AF 184 | 14.87
28 13:30 U5+ 2 = 400 = < | 524 | 5778
29 13:50 U5 9 2 400 = ¢ FF | 194 | 5154
30 | 14:20 UIT+ 2= 400 = < | 314 | 56.27
31 | 14:35 UIT 9 2 400 = < TR T6 4 49.20
32 15:05 Ul9+ 4 400 = ¢ FF | 194 | 5558
33 15:15 U199 2 400 = < R | TLA | 49.95
34 15:45 U3+ 2= 100 2 = AF 84 | 1347
35 15:50 U139 2 100 2 < Af 8% | 12.81
36 | 15:55 U5+ 4 100 2 = AF 164 | 12.63
37 16:05 UI5 9 2 & 100 2 = Af 164 | 1141
38 16:15 U742 100 2 < Af 164 | 12.45
39 16:25 UIT 9 2 100 2 = AF 164 | 10.99
40 |16:35| 19+ % & 100 2 < Af 164 12.20
41 |16:45 V19 ¥ * & 100 2 = AF 164 | 10.68
42 |16:55 U19 ¥ % & 5000 2 Af 28+ 15.58.27
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43 | 8:30 U17 % 2 = &4 700g ;‘i—% 23 * 65. 68
44 | 8:30 ' Ulb+ 2 = B g ;‘i—% bl * 5. 39
45 | 9:00 UI3* 2 %= B3 ;‘#;’;} 15~ 1.40
46 | 9:00 U17 % 2 = £.3k HKg ;‘i—% 20 ~ 18. 61
47 110:20 UI7 * 2 % s 4A 1Kg ;‘#;’;} 17 40. 47
48 | 7:30 | Ulb 4 2 = 1500 = = ;‘i—% 26 ~ | 5.03.57
49 | 7:45 Ulb § 24 = 1500 = = ;i—% 61 ~ | 4.20.84
50 | 8:15 | U17* 2 ‘& 1500 = = ;‘#% 18 ~ | 4.56.04
b1 | 8:25 | U17 § 2 & 1500 = = ii—% 40 ~ | 4.13.42
52 | 8:45 | U19* 2 & 1500 = = ;‘#% 14 & | 4.49.54
b3 | 8:55 | U19 § 2 = 1500 = = ii—% 33 ~ | 4.09.56
54 | 9:10 | Ul5 * 2 ‘& 400 = = ;‘#% 16 4 07.78
55 | 9:20 (U159 § 2 & 400 = = ;‘#% 16 * 51.54
56 | 9:30 | U17 * 2 ‘& 400 = = ii—% 8 A 56. 27
57 |1 9:35 | U17T § 2 & 400 = = ;‘#% 16 * 49. 20
58 | 9:45 | U19 * 4 ‘& 400 = = ii—% 8 A 55. 58
59 | 9:50 [ U19 F 2 & 400 = = ;‘i—;’;? 16 * 49. 25
60 110:00 U13* 2 ‘& 60 = = %E;’F} 16 4
61 |10:10 U13 ¥ 2 ‘= 60 = = %E;’F} 14 ~
62 110:20 Ul * 2 ‘& 100 = = B4 0.762m ;‘i—;’;? 8 A 14. 84
63 |10:25 | U17* 2 ‘& 100 = = g4 0.762m ;‘i—;’p} 8 4 14. 46
64 110:35 | U19 * 2 ‘& 100 = = B4 0.838m ;‘i—;} 8 A 14. 07
65 |10:50 | Ul § 2 ‘= 110 = = g4 0.914m ;‘i—;’p} 8 4 14. 91
66 |11:00 U17 § 2 ‘& 110 = = 4 0.914m ;‘i—;’;? 16 ~ 14. 23
67 |11:10 U19 § 2 ‘& 110 = = &4 0.991m ;‘i—;} 8 4 13. 94
68 |11:25 Ul3 + 2 & 4%100 = = $#4 ?B??:‘#% 17 F3
69 |11:35 | U13 ¥ 2 & 4%100 = = £ 4 ?F%;‘i—% 15 Fx
70 |11:45 Ul5 + # & 4%100 = = $#4 ?E% 17 F3
71 |11:55 | Ul § 2 & 4%100 = = #&4 ?E% 24 T3
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72 113:20 UIT+ 4 & 43k 3Kg s 10 * 55. 46
73 [13:30| U17T* 2 & B iR AR 35 4 5. 60
74 114:00 U19 § 24 & B % s 9 £ 2.05
75 [ 14:00| U19 * 2 & g1k 4Kg AR 13 ~ 13.07
76 114:00 Ulh + 2 & FEpB s 10 ~ 3.10
77 [ 14:00| U17 % 2 & HEHR a3 5 4 3.85
78 114:00 U199+ 4 & FEpB s 14 3.92
79 [14:50| Ul § 2 & 483k bHKg s 13 4

80 |16:20| U7 9 2 = R 71T o 10 « 15. 03
81 116:20 U17 % 2 = 43k HKg s 10 ~ 66. 25
82 [ 13:30 U17* 2 e 4%100 = = #4 P 15 F3

83 [ 13:40 U17 % 2 = 4%100 = = 424 ¥ 26 ¥

84 | 13:55 U199+ 2 4%100 = = #4 P 13/ | 48.76
85 [ 14:05 U197 2 = 4%100 = = 424 ¥ 18 /% | 42.54
86 |[14:25| V13~ 2 = 200 = = i F 23 * 29. 16
87 14:35 U133 2 & 200 = = ¥ 12 4 26. 73
88 |14:40 | U5+ 2 = 200 = = EF 80 ~ 25. 72
89 15:05 Ul5 % 2 = 200 = = ¥ 121 ~ | 23.06
90 |15:40 UIT+ 2 & 200 = & EF 40 ~ 24. 93
91 |15:55| UIT ¥ 2 & 200 = = ¥ 82 4 22.04
92 16:30| U19 % 2 = 200 = = i 26 * 25. 05
93 116:40 U19 § 24 = 200 = = i 70 * 21.60
94 |17:05| U19 % 2 & 3000 = = g 4 4 110.49.98
95 |17:05 UIT+ 4 & 3000 = = g T4 | 10.31.24
96 |17:25| UI7T § 2 & 3000 = = g 15 % | 9.12.05
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Fiz B wv 5 Ful o AE < gEE K
97 18:30 UITF 2% B ik AF o 3T4 | T.22
98 | 8:30 U574 s#4 1.5Kg A 334 | 4877
99 | 9:00 U374 b3t 2.T2Kg AF 104 13.66
100 10:00| U19 % 2 &= B A AF 94 | LT
101 11:00| U172 &= = it AF 94 | 1176
102 | 11:00 | U19 + 2 = ## 600g AF 124 4581
103 | 8:00 | U5+ 2 @ 800 2 < FFE 414 2.19.81
104 | 8:30 U592 & 800 2 < EE 724 2.05.13
105 9:10 | U172 & 800 = < wF 194 2.23.11
106 | 9:25 | UIT 9 2 & 800 2 < WF 434 1.56.78
107 | 9:55 | U19+ 2 & 800 2 < FFE 44 21595
108 | 10:05 U199 2 & 800 = < WF 374 | 1.56.82
109 | 10:40 | U13 + 2 & 200 2 < AF 84 | 29.16
110 | 10:45 U139 2 &= 200 2 < AF 84 2673
111 | 10:50 | U5+ 2 & 200 2 < AF 164 | 25.72
112 | 11:00 U5 9 2 & 200 2 < AF 164 23.06
113 | 11:10 U172 @& 200 2 < A 164 24.93
114 11:20 U178 2 & 200 2 < A 164 22,04
115 | 11:30 | U19 + 2 @& 200 2 < AF | 84 | 25.05
116 | 11:35 U199 2 &= 200 2 < AF 164 2160
117 | 11:50 | U13 % 2 &= 60 2 < A 8¢
118 | 11:55 U139 2 &= 60 = < AF | 8¢
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119 113:10 | Ul * 2 ‘e 4azk 3Kg AR 13 +

120 113:30 | U13 * 2 ‘e B 1% AR 22 + 4.718
121 | 14:00 U15 % 2 = B % s 22 ~ 1.78
122 | 14:00 U5~ 2 = b3k JKg s 26 4 12. 96
123 | 14:00 U15 % 2 = HE R s 6 4 3.80
124 | 14:00 U173 2 = WE 3 g 4 4 4. 30
125 | 14:00 U197 2 = WE 3 AR 4 4 4.70
126 | 14:30 U199~ 2 = 4ark 4Kg g 14 + ol. 12
127 115:40 | U13 ¥ # & B i s 16 * 4.49
128 [16:00| U19 ¥ # = 481k 6Kg s 21 4 62. 27
129 [13:30| U165~ # 2= | 400 = < &4 0. 762m P 15 4 63. 65
130 1 13:40 U174 2 %= | 400 = = g4 0. 762m P 20~ | 1.02.59
131 113:55 U194 2 %= | 400 = = g4 0. 762m EF 14 ~ 1 1.00.83
132 114:10 U15 ¥ £ %= | 400 = < g4 0.838m ¥ 38 4 7. 87
133 114:30 U17 ¥ £ %= | 400 = < g4 0.838m ¥ 54 4 55. 17
134 115:05 U19 § £ %= | 400 = < g4 0.914m ¥ 3l 4 53.04
135 [15:35| U3~ 2 & 4%200 = = &4 AR L

136 | 15:45 U13 ¥ 2 = 4%200 = = &4 PREARE 9K

137 | 15:55 | U17* 2 = | 2000 = = Fas 0. 762m A F oA | T.47.67
138 16:15| U17 % 2 = | 2000 = = Fe&= 0. 838m o 18 + | 6.31.32
139 116:40 | U19 ¥ 2 = 10000 = = o 16 ~+ | 33.35.77
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par EE |y A0 Ful | tdc S gEsr F o3
140 | 8:30 UIT¥ 2 44 1. 5Kg AF | 284 | 49.17
141 9:00 UIT® 2% B Ak 124 2.00
142 1 9:00 UI9 % 2 & B it AF 324 T59
1431 9:30 UI9 %2 43¢ 6Kg A% 214 | 17.68
144 110:30 U5+ 2 & ## 500g AF 184 | 43.84
145 | 8:00 U5+ 2 & 800 = < Ak 164 | 2.19.81
146 | 8:10 (U159 2 & 800 2 < A% 164 | 2.05.13
147 | 8:20 | UIT+ 2 & 800 2 < Ak 84 | 2.23.11
148 | 8:30 UIT¥ 2 800 2 < A% 164 | 1.56.78
149 | 8:40 | UI9+2 & 800 = < A% 84 2159
150 | 8:50 | U19 ¥ 2 & 800 = < A% 164 | 1.56.82
151 | 9:10 | UI5+ 2 | 400 2 < B4 0.762m | % | 8% | 63.65
152 | 9:15 | UIT+ 4 400 2 < # 0.762n | F | 8% | 1.02.59
153 | 9:20 | UI9+ 2 400 2 < B# 0.762n | % | 8% | 1.00.83
154 9:30 U5 ¥ 2 | 400 2 < K5H¥ 0.838m | &F | 164 | 57.87
155 | 9:40 | UIT® 20 400 2 < B4 0.838m | % | 16 % | 55.17
156 9:50 UI9 ¥ 2 | 400 2 < ¥y 0.914m | AF | 8% | 53.04
157 |10:10 UI9 =2 & 3000 2 < Mase 0.762n | s | 10 %+  12.01.90
158 |10:35 UI9 ¥ 2 3000 2 < Mise 0.914m | &% | 21 % | 9.45.79
159 11:00 UI5 2 | 4%100 2 < 424 AF 8T

160 |11:10 | UI5 ¥ 2 | 4%100 2 ¢ 32 15 Y

161 |11:20 UIT+ 2 | 4100 2 ¢ & 15 Y

162 |11:30 UIT ¥ 2 | 4%100 2 ¢ 3 AF 81

163 |11:40 UI9 %2 | 4%100 2 ¢ 42 A% 81 | 48.76
164 |11:50 UI9 ¥ 2 | 4%100 2 < 3 AF 8m | 42.54
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165 [13:00| U19 7 2 = 1% 800g AR 26 + 61. 17
166 [13:00| U19 * 2 = B i AR 27 * 5. 87
167 [13:30 | U7+ 2 %= B % AR 13 # 1.70
168 [13:30 | U19 * 2 = e 1Kg AR 15 4 41.90
169 113:30 Ul5 %2 = 4%400 > = f34 FEEAE 1015
170 113:45| Ul5 ¥ 2 ‘= 4%400 = = 44 A | 18
171 | 14:00 U17T~ 2 = 4%400 = = %4 A | 12 1
172 114:20 | U17 9 2 %= 4%400 = = &4 PR | 24 17
173 | 14:40 U19 ~ 2 = 4%400 = = &4 A 61 | 4.07.67
174 | 14:50 U197 2 = 4%400 = = 44 R | 191 | 3.22.81




